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Question Number : 1 Question Id : 27028217250 Question Type : MCQ Option Shuffling : No Is
Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A Minimum
Instruction Time : 0 Allowed Progression : Yes Number of Replay : 999 Play On Load : No

Control Enable : Yes Time interval to replay(In Seconds) : 0 Allow Volume Control : No

Correct Marks : 2 Wrong Marks : 0

Which 1s known as Art and Science of Teaching?
5an o g8, FoRien ot

Options:

Pedagogy
v DEFA

Andragogical
Do|&dss

Apedagogical
3 % @Shedss

Instruction
H55

Question Number : 2 Question Id : 27028217251 Question Type : MCQ Option Shuffling : No Is
Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A Minimum
Instruction Time : 0 Allowed Progression : Yes Number of Replay : 999 Play On Load : No

Control Enable : Yes Time interval to replay(In Seconds) : 0 Allow Volume Control : No

Correct Marks : 2 Wrong Marks : 0

This describes mtended results of instruction rather than the process

of mstruction
26 o 8ah Yoi) e HhEreH D608

Options:



Sympathy to students

_— E‘C}""éﬁgﬁ}?i] ersnaiorss

Objectives of Teaching
Hesare ©5°eD
2.¢

Teaching Aids
3 % Heser HsBaHseen

Teaching Props
4 % &5 (275

Question Number : 3 Question Id : 27028217252 Question Type : MCQ Option Shuffling : No Is
Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A Minimum
Instruction Time : 0 Allowed Progression : Yes Number of Replay : 999 Play On Load : No

Control Enable : Yes Time interval to replay(In Seconds) : 0 Allow Volume Control : No

Correct Marks : 2 Wrong Marks : 0

In this stage learners are self motivated and self directed
% 538, S FRarth #hos weah (Monoad eBdHeneED

\I
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Options:

Adolescence
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Adult

s
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Primary
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Pre-primary
P -50otH
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Question Number : 4 Question Id : 27028217253 Question Type : MCQ Option Shuffling : No Is
Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A Minimum
Instruction Time : 0 Allowed Progression : Yes Number of Replay : 999 Play On Load : No

Control Enable : Yes Time interval to replay(In Seconds) : 0 Allow Volume Control : No

Correct Marks : 2 Wrong Marks : 0
If few students disrupt class the effective way to control this indiseipline 1s by:
Eosfood Dorgthen S5K8R PoriBR, S EHegmrrriend) aboldnddn SEa
Options :

Talk to parents
SDE0|H0E” SrériHht

Punish them physically
ARV o mAL
% aﬁ,ﬁoﬁch 2Rz

Give them a Memo
=1 Emsf:ﬁm:natgj@

Change seats
4. 5@5}&3 @ﬁ%ﬂ?ﬁ SroD

Question Number : 5 Question Id : 27028217254 Question Type : MCQ Option Shuffling : No Is
Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A Minimum
Instruction Time : 0 Allowed Progression : Yes Number of Replay : 999 Play On Load : No

Control Enable : Yes Time interval to replay(In Seconds) : 0 Allow Volume Control : No

Correct Marks : 2 Wrong Marks : 0



An elective course chosen generally from an unrelated

discipline/subject in CBCS system
1s termed as:

CBCSs #586® sSomooda #vigo / diidho ok 28 20ds artsag

Options :

Core course
1. % 86 5%y

Project work

 |===E 52
2, % &

Generic Elective

E D8

Discipline specific Elective

4 % BOBS RIS 208D
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Question Number : 6 Question Id : 27028217255 Question Type : MCQ Option Shuffling : No Is

Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A Minimum

Instruction Time : 0 Allowed Progression : Yes Number of Replay : 999 Play On Load : No

Control Enable : Yes Time interval to replay(In Seconds) : 0 Allow Volume Control : No

Correct Marks : 2 Wrong Marks : 0

This refers to the degree to which research findings can be applied

to larger population
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Options :

Validity
| % s

Reliability
DEFHDADHS

Generalizability
3 ¢ FTeSeEbn

Credibility.
S

Question Number : 7 Question Id : 27028217256 Question Type : MCQ Option Shuffling : No Is
Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A Minimum
Instruction Time : 0 Allowed Progression : Yes Number of Replay : 999 Play On Load : No
Control Enable : Yes Time interval to replay(In Seconds) : 0 Allow Volume Control : No
Correct Marks : 2 Wrong Marks : 0

In which type of Research it 1s more about moving from “General Population to Particular”

& BIS 268G é{é@ anddin s @é&dﬁ:éo SamdSt QeI FortdEte fob L}I}Eéééé& fe 5505

Options:

Deductive

1 ANEDR

Inductive
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Question Number : 8 Question Id : 27028217257 Question Type : MCQ Option Shuffling : No Is
Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A Minimum
Instruction Time : 0 Allowed Progression : Yes Number of Replay : 999 Play On Load : No

Control Enable : Yes Time interval to replay(In Seconds) : 0 Allow Volume Control : No

Correct Marks : 2 Wrong Marks : 0

Which of the following scale is used to assign events or objects into discrete categories

b=

& o & 6085w B0 $0EBoHE
4]
Options :

Ordinal

oo
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Nominal
TeEEn
v

Interval
- OO

Ratio
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Question Number : 9 Question Id : 27028217258 Question Type : MCQ Option Shuffling : No Is
Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A Minimum
Instruction Time : 0 Allowed Progression : Yes Number of Replay : 999 Play On Load : No

Control Enable : Yes Time interval to replay(In Seconds) : 0 Allow Volume Control : No

Correct Marks : 2 Wrong Marks : 0

Which phase in Research 1s meant for cleansing data and

improving the quality of data ?
56556 % 55 Serodtn HIFHEDHLH, HHDEIHELS SHEPHHERD

Options:

Editing
HoBes

Coding
b5

Tabulation
HEBSE

Analysis
&éﬁw

Question Number : 10 Question Id : 27028217259 Question Type : MCQ Option Shuffling : No
Is Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A
Minimum Instruction Time : 0 Allowed Progression : Yes Number of Replay : 999 Play On
Load : No Control Enable : Yes Time interval to replay(In Seconds) : 0 Allow Volume Control :

No

Correct Marks : 2 Wrong Marks : 0



Which is a software application which enables a Web to display and interact with text, images.
videos. music and other information types by accessing a web page ?
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Question Id : 27028217260 Question Type : COMPREHENSION Sub Question Shuffling Allowed
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to replay(In Seconds) : 0 Allow Volume Control : No
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Read the passage and answer the Questions from 11 to 15

Have you ever been at sea in a dense fog. when it seemed as if a tangible white darkness
shut you . and the great ship. tense and anxious. groped her way toward the shore
with plummet and sounding line. and you waited with beating heart for something to
happen? I was like that ship before my education began, only I was without compass
or sounding-line, and had no way of knowing how near the harbor was."Light! Give
me light!" was the wordless ery of my soul. and the light of love shone on me in that
very hour.

11 o8 15 555 Ko HHob Sonobold ardwrto & Bol akpli. w8 drén
b aird aiE e aupESd. $08 amrm JoHER vedhod.

E DB HERS PO’ D00 &) 7728 DD
B0 DEE WD) TS VPEN NDODNY I, 2.8 ) 2.ch 65
oS0 B & SO 2,.C05 T H0ENRLDE, D sFHBaHOo

SHOT TENLIOLPEGORT DB BEDAI0R I &) es(HOT 20
Gor) ) . T EPETE0 (alPG0TNE SN0 Ve & LT GOTBTEWN.
B ORI B roB0N B SR &) d DO FSF0H0
D065 HWHNOS &0E BEVVHT SrU0 B HOVS & &) oD
"BeND! TE OB @Y 51" @B DTN BA D) & ¢ esh) s

HA0H . T HD0HOS DD ©F OB o 2 (DFI0D0E.

Sub questions

Question Number : 11 Question Id : 27028217261 Question Type : MCQ Option Shuffling : No
Is Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A
Minimum Instruction Time : 0 Allowed Progression : Yes Number of Replay : 999 Play On
Load : No Control Enable : Yes Time interval to replay(In Seconds) : 0 Allow Volume Control :
No

Correct Marks : 2 Wrong Marks : 0

The phrase ‘tangible ’ means
‘er0Ran®’ @0 VI V8 e@do

Options :

unreal
1 % €900



visible
5> EADOT

1maginary

BRSPS IETD
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Question Number : 12 Question Id : 27028217262 Question Type : MCQ Option Shuffling : No
Is Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A
Minimum Instruction Time : 0 Allowed Progression : Yes Number of Replay : 999 Play On
Load : No Control Enable : Yes Time interval to replay(In Seconds) : 0 Allow Volume Control :
No

Correct Marks : 2 Wrong Marks : 0

The author compares her childhood waith the

SrIoes e erered)) s 06
Options :

ship
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Question Number : 13 Question Id : 27028217263 Question Type : MCQ Option Shuffling : No
Is Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A
Minimum Instruction Time : 0 Allowed Progression : Yes Number of Replay : 999 Play On
Load : No Control Enable : Yes Time interval to replay(In Seconds) : 0 Allow Volume Control :

No

Correct Marks : 2 Wrong Marks : 0

The phrase- ‘| was without compass,” means:
B AEFHD) BROT® GO ), ©@F G058 @0

Options :

educated
1 % Q50N

poor

2. :'c;}ﬂ'r}

directionless

AFY SOOHA
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uneducated
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Question Number : 14 Question Id : 27028217264 Question Type : MCQ Option Shuffling : No
Is Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A
Minimum Instruction Time : 0 Allowed Progression : Yes Number of Replay : 999 Play On

Load : No Control Enable : Yes Time interval to replay(In Seconds) : 0 Allow Volume Control :



No

Correct Marks : 2 Wrong Marks : 0

The synonym for the word ‘harbor’ in the above passage is :
2 (DEGR0S s T SHF0N0: @ DTPAE DT 0NNE0

Options :

port
- 2,C809

compass
RISVRTA]
2. -
ship
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Question Number : 15 Question Id : 27028217265 Question Type : MCQ Option Shuffling : No
Is Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A
Minimum Instruction Time : 0 Allowed Progression : Yes Number of Replay : 999 Play On
Load : No Control Enable : Yes Time interval to replay(In Seconds) : 0 Allow Volume Control :

No

Correct Marks : 2 Wrong Marks : 0

The first three lines of the above passage reflect .
) D830’ Jched e Hodden 1232 08T 0N

Options :
apprehension
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pity
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sorrow
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Sub-Section Number : 4
Sub-Section Id : 2702821267
Question Shuffling Allowed : Yes

Is Section Default? : null

Question Number : 16 Question Id : 27028217266 Question Type : MCQ Option Shuffling : No
Is Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A
Minimum Instruction Time : 0 Allowed Progression : Yes Number of Replay : 999 Play On
Load : No Control Enable : Yes Time interval to replay(In Seconds) : 0 Allow Volume Control :

No

Correct Marks : 2 Wrong Marks : 0

Shaking the hands of a person in a country, where such an act is
disrespectful is a

______barrier.

55000 TANEO TG0 XD BI0S 2.8 55288 8¥zrerso
DONGO_____ est08

Options :

Cultural
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environmental
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emotional
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Question Number : 17 Question Id : 27028217267 Question Type : MCQ Option Shuffling : No
Is Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A
Minimum Instruction Time : 0 Allowed Progression : Yes Number of Replay : 999 Play On
Load : No Control Enable : Yes Time interval to replay(In Seconds) : 0 Allow Volume Control :
No

Correct Marks : 2 Wrong Marks : 0

errors can occur when a wrong word is typed

in an e-mail and theintended message is

misrepresented.
-0V $53) Q) VD TR I HOO GBIV NOBFO
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Options :
feedback
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encoding
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channel
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decoding
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Question Number : 18 Question Id : 27028217268 Question Type : MCQ Option Shuffling : No
Is Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A
Minimum Instruction Time : 0 Allowed Progression : Yes Number of Replay : 999 Play On
Load : No Control Enable : Yes Time interval to replay(In Seconds) : 0 Allow Volume Control :

No

Correct Marks : 2 Wrong Marks : 0

messaging refers to the pitch, flow and tone of the
voice.
D0TH0 @RA D380 AINE) DB, (a0 OO
QTR ATPWRNOA.

Options :

kinesthetic
25 es¥
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para-verbal
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Question Number : 19 Question Id : 27028217269 Question Type : MCQ Option Shuffling : No
Is Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A
Minimum Instruction Time : 0 Allowed Progression : Yes Number of Replay : 999 Play On
Load : No Control Enable : Yes Time interval to replay(In Seconds) : 0 Allow Volume Control :

No

Correct Marks : 2 Wrong Marks : 0

In the place of work, people respond to ideas that are
presented with

3BT B0, & 290000 eSO (Hasen
1206300 JOAT

Options :

anger
. 50

emotion
o T B0

prejudice

3 % SETe

confidence
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Question Number : 20 Question Id : 27028217270 Question Type : MCQ Option Shuffling : No
Is Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A
Minimum Instruction Time : 0 Allowed Progression : Yes Number of Replay : 999 Play On

Load : No Control Enable : Yes Time interval to replay(In Seconds) : 0 Allow Volume Control :



No

Correct Marks : 2 Wrong Marks : 0

___listening can help you address conflict or problems within

the team

29083065 D051 BT 020D DBALBOITRE

NSB0 NBY HFFANJRDEN0OD

Options :

mindful
1 ¢ ERMe

unrecep tive

, % OSSBOIBA

passive
Qo 08 ed

partial
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Question Number : 21 Question Id : 27028217271 Question Type : MCQ Option Shuffling : No

Is Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A

Minimum Instruction Time : 0 Allowed Progression : Yes Number of Replay : 999 Play On

Load : No Control Enable : Yes Time interval to replay(In Seconds) : 0 Allow Volume Control :
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Correct Marks : 2 Wrong Marks : 0
3 2150 i 8

Options:

24

Question Number : 22 Question Id : 27028217272 Question Type : MCQ Option Shuffling : No
Is Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A
Minimum Instruction Time : 0 Allowed Progression : Yes Number of Replay : 999 Play On
Load : No Control Enable : Yes Time interval to replay(In Seconds) : 0 Allow Volume Control :

No

Correct Marks : 2 Wrong Marks : 0
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Options :
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Question Number : 23 Question Id : 27028217273 Question Type : MCQ Option Shuffling : No
Is Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A
Minimum Instruction Time : 0 Allowed Progression : Yes Number of Replay : 999 Play On
Load : No Control Enable : Yes Time interval to replay(In Seconds) : 0 Allow Volume Control :
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Correct Marks : 2 Wrong Marks : 0

Options :
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Question Number : 24 Question Id : 27028217274 Question Type : MCQ Option Shuffling : No
Is Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A

Minimum Instruction Time : 0 Allowed Progression : Yes Number of Replay : 999 Play On



Load : No Control Enable : Yes Time interval to replay(In Seconds) : 0 Allow Volume Control :

No

Correct Marks : 2 Wrong Marks : 0

If the incomes of A and B are i the ratio of 3: 4 and their
expenditures in the ratio of 4 : 5. The ratio of their savings, given
that B saves a third of his mcome are

A 0G50 B 330E) estr0sPen 3: 4 AR & 0G50 0 D JED 4: 5
DAIBS D )T 00, B 563 &sT0HOET sS85 03068 &7 T N0
IO Y S

Options :

Question Number : 25 Question Id : 27028217275 Question Type : MCQ Option Shuffling : No
Is Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A
Minimum Instruction Time : 0 Allowed Progression : Yes Number of Replay : 999 Play On
Load : No Control Enable : Yes Time interval to replay(In Seconds) : 0 Allow Volume Control :
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Correct Marks : 2 Wrong Marks : 0

If mean and mode of a distribution are 6 and 8 respectively, then
the median 1s

2,5 272300 Q3NE) PG Faded) (RHEN) DO 22TVFE0 €0 T
6 OG5 8 OB, DS Hehadd



Options :
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Sub-Section Number : 6
Sub-Section Id : 2702821269
Question Shuffling Allowed : No
Is Section Default? : null

Question Id : 27028217276 Question Type : COMPREHENSION Sub Question Shuffling Allowed
: No Group Comprehension Questions : No Question Pattern Type : NonMatrix Calculator :
None Response Time : N.A Think Time : N.A Minimum Instruction Time : 0 Allowed
Progression : Yes Number of Replay : 999 Play On Load : No Control Enable : Yes Time interval

to replay(In Seconds) : 0 Allow Volume Control : No
Question Numbers : (26 to 30)

Question Label : Comprehension



The questions 26 to 29 are based on the following data.
26 00 29 1294) 00 1808 ST 0450 eSO GOEFON

Four persons of four professions are seated in a row, such that the
Professor 1s to the immediate left of Anup. Mobhit 1s adjacent to the
Doctor. The Busmessman 1s as many places to the left of Priyanka
as Manmohan 1s to the right of Priyanka. One of the persons is a
Lawyer.

TeD JYENOF) TOAR SENMHE 550N ST EP )T S, (PO
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Sub questions

Question Number : 26 Question Id : 27028217277 Question Type : MCQ Option Shuffling : No
Is Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A
Minimum Instruction Time : 0 Allowed Progression : Yes Number of Replay : 999 Play On
Load : No Control Enable : Yes Time interval to replay(In Seconds) : 0 Allow Volume Control :

No

Correct Marks : 2 Wrong Marks : 0

Who 1s the lawyer?
P L0 )adBD?

Options:

Anup

| SR

Mohait
2. gg ﬁn%ﬁg

Manmohan
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Priyanka
oMol
4, %

Question Number : 27 Question Id : 27028217278 Question Type : MCQ Option Shuffling : No
Is Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A
Minimum Instruction Time : 0 Allowed Progression : Yes Number of Replay : 999 Play On
Load : No Control Enable : Yes Time interval to replay(In Seconds) : 0 Allow Volume Control :

No

Correct Marks : 2 Wrong Marks : 0

Who i1s seated between Priyvanka and Anup?
2205 0% OO @R DG Ded Bt yooe) o7

Options:

Manmohan
3SR

Mohit
5 % TS

canot be determined
QONOTIDEED

None of these
563 DA B

Question Number : 28 Question Id : 27028217279 Question Type : MCQ Option Shuffling : No
Is Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A

Minimum Instruction Time : 0 Allowed Progression : Yes Number of Replay : 999 Play On



Load : No Control Enable : Yes Time interval to replay(In Seconds) : 0 Allow Volume Control :

No

Correct Marks : 2 Wrong Marks : 0

Which of the following statements 1s true?
Bob srggEned® 26 Jeghde ?

Options :

Mohit 1s not the businessman
g TS fardaed SN

Manmohan 1s the Professor
5 @ NS PTS (DO

Priyanka is a lawyer

% OP0E &0

Anup 1s a Doctor
e 350

Question Number : 29 Question Id : 27028217280 Question Type : MCQ Option Shuffling : No
Is Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A
Minimum Instruction Time : 0 Allowed Progression : Yes Number of Replay : 999 Play On
Load : No Control Enable : Yes Time interval to replay(In Seconds) : 0 Allow Volume Control :

No

Correct Marks : 2 Wrong Marks : 0

From the statements below, all the following are true except

&He arggtne oA, ) WASDSDY DB

Options :



Lawyer 1s not seated to the left of Doctor.
3508 DBeNB YN eroHD 8 3B.

1. %

Professor sits between Doctor and Lawyer.
2350 DO ePAND NGNS 1P N0 Srdy yoor) .

2. ¢
Manmohan 1s to the left of Lawyer and to the immediate right
of Mohit .
N 37D eFANTE DN IN OGN FrarSE OATYS
3 % €500 &.

Mohit and Doctor are seated adjacent to each other.

. J0%ar @ SO0 @E0 LEOTED 108 Srdh yar) .

Question Number : 30 Question Id : 27028217281 Question Type : MCQ Option Shuffling : No
Is Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A
Minimum Instruction Time : 0 Allowed Progression : Yes Number of Replay : 999 Play On
Load : No Control Enable : Yes Time interval to replay(In Seconds) : 0 Allow Volume Control :

No

Correct Marks : 2 Wrong Marks : 0

In a certamn code language. if the word ‘"MENTION’= 49 and
‘NEUROTIC’ = 64 , then

‘MARVELLOUS’ =?

2.8 DO §& arA, H¢90 MENTION = 49 o000 ‘NEUROTIC' = 64 5008,
@))%  MARVELOUS' =?

Options :
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Sub-Section Number : 7
Sub-Section Id : 2702821270
Question Shuffling Allowed : No
Is Section Default? : null

Question Id : 27028217282 Question Type : COMPREHENSION Sub Question Shuffling Allowed
: No Group Comprehension Questions : No Question Pattern Type : NonMatrix Calculator :
None Response Time : N.A Think Time : N.A Minimum Instruction Time : 0 Allowed
Progression : Yes Number of Replay : 999 Play On Load : No Control Enable : Yes Time interval

to replay(In Seconds) : 0 Allow Volume Control : No
Question Numbers : (31 to 35)

Question Label : Comprehension



Note: Answer the questions 31 to 35 based on the data provided below.
HehQ¥: Ahe) 0H0DS ST 04N eS0T 31 DO 35 (D908 NITFTTTre
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The gross mvestment of Life Insurance Corporation of India in
different sectors 1s given i the following table.

DN B0 B 280 STI0NS &9 20805F T Are DEYd
18060 HEES’ 2% 52800

S.No. | Investment Sector Amount. (crores)

P8 Sotfo o, FL ')

1 | Socially oriented sector ( Plan) 458
s estrded 00 (DT DY)

2 |Socially oriented sector (Non plan) 107
ATSrEE esirheb SO0 (PP PIY)

3 Private sector 183
| 298 Gotio

5 | Central Govt. Securities 454
30185 152065 50 DEF:BESen

6 | State Govt. Sector 110
9 (w2hed 50 Soffo

7 | Securities Guaranteed by Govt 227
92065 £0 370 20N DEreOE3en

Sub questions

Question Number : 31 Question Id : 27028217283 Question Type : MCQ Option Shuffling : No
Is Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A
Minimum Instruction Time : 0 Allowed Progression : Yes Number of Replay : 999 Play On
Load : No Control Enable : Yes Time interval to replay(In Seconds) : 0 Allow Volume Control :
No

Correct Marks : 2 Wrong Marks : 0

The percentage of gross investment in state government securities nearly
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o7 |2020eh

Options :
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Question Number : 32 Question Id : 27028217284 Question Type : MCQ Option Shuffling : No
Is Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A
Minimum Instruction Time : 0 Allowed Progression : Yes Number of Replay : 999 Play On
Load : No Control Enable : Yes Time interval to replay(In Seconds) : 0 Allow Volume Control :

No
Correct Marks : 2 Wrong Marks : 0

The magnitude of angle COF i1s nearly

COF §£00 G30E) D070 Ty T eIVl

Options :
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Question Number : 33 Question Id : 27028217285 Question Type : MCQ Option Shuffling : No
Is Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A
Minimum Instruction Time : 0 Allowed Progression : Yes Number of Replay : 999 Play On
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The investment in private sector 1s nearly  percent higher than
the investment in state government securities.
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The ratio of the area of circle above COF to the area of the circle

below 1s nearly
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The program 1s intended for Tertiary Education through partnerships
with State Universities and Colleges to enhance the quality of ICT m
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Which of the following was not a Millennium Development Goal?
& [Bob 08 26 OIHD ediHh oo sH?

Options :

Improve maternal health
Sre)ey eBirpEn BrhHt

Ensure environmental sustainability
HoegHe KoFHED GOy HPHe:
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Which of the following types of natural hazards have the highest

potential to

cause damage to humans?
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Earthquakes
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Carbon dioxide 1s primarily called a greenhouse gas because of ..................
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Non Renewable source
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The primary agenda of the Kyoto protocol is ...........
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Jawaharlal Nehru University
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Which of the following 1s related to the New Education Policy 20207
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Which is the nodal agency for United Nations Environment
Programme (UNEP) in India?
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Ministry of Education
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“The study of the mind should focus on how 1t functions 1n everyday life”. Which of the
following early psychologists would most likely agree with the statement?

Options :

1. % Sigmund Freud

2. % John Watson

3 % Wilhelm Wundt



4. William James
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A statistical mdex or test which describes the degree and direction of the relationship
between two characteristics or variables 1s called

Options:

1. Correlational coefficient

5 % Longitudinal design

3 % Relational method

4 % Quasi experimental index
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Which type of long-term memory contains information that s conscious and known?

Options :



1« Declarative memory

> % Anterograde memory

3. % Non-declarative memory

4. % Working memory
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Identify the correct visual pathway

Options :

Retina—Optic chiasm—Optic tract—Optic nerve—LGN of thalamus—Opt1

| % radiations—Primary visual cortex

Retina—Optic nerve—Optic chiasm—Optic tract—Optic radiations—Primary visual
2 # cortex—LGN of thalamus

Retina—Optic nerve—Optic tract— Optic chiasm—ILGN of thalamus—Optic

3 % radiations—Primary visual cortex

Retina—Optic nerve—Optic chiasm—Optic tract
radiations—Primary visual cortex

LGN of thalamus—Optic
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Match the following:

A. Individual differences 1. Broadbent
B. Human factors engineering 11. Skinner
C. Genetic epistemology 111.P1aget

D. Behaviourism 1v. Galton
Options:

1 % A(i). B(iii), C(ii). D(iv)

5 A(iv). B(i). C(iii). D(ii)

3. % A(if). B(iv). C(i). D(iii)

4 % Alii)., BGv). C(). D(i)
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Which of the following would indicate the weakest relationship and thus be close to
complete randomness?

Options :



1 @ +0.01

2. % +1.00
3 % -0.89
4. % -0.98
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In a study. the participants do not know if they are part of the control group or
the experimental group. Only the experimenter knows who 1s 1n each group.

Options :
1. % Triple-blind
2 % D011b16-111i11d

3. #% Placebo

4. « Single-blind
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Which neurotransmitter 1s no longer readily produced in Alzheimer’s patients?
Options:

1 % Dopamine

> % GABA

3.« Acetylcholine

4. % Endorphins
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According to Dewey (1933). 1s defined as an “active. persistent, and
careful consideration of any belief or supposed form of knowledge in the light of the
grounds that support it and the further conclusions to which it tends™.

Options:

1 % Introspection

> % Unconscious processing



3. Reflective thinking

4. % Problem space hypothesis
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Determination. reductionism. empirical observation along with measurement and theory
verification are key factors of worldview.

Options :

1.« Postpositivism

i

5> % Constructivism

" Transformative

3.

4. % Pragmatism
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Which disorder 15 seen typically after a ternfying ordeal that involved physical harm or
the threat of physical harm?

Options:

1. ¢ Post trawmatic stress disorder

2. % Generalized anxiety disorder

3 % Agoraphobia

4. % Obsessive compulsion disorder
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Who 1s considered to be the father of African American psychology?
Options :

1 % Robert V. Guthrie

> « Francis Cecil Sumner

3. % Charles Henry Thompson

4 % Howard Hale Long
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The nevron 1s charged on the mside when 1t 15 1n resting potential,
Options:

1. % Positively
> Negatively
3 % Both positively and negatively

4 % "_“feutlfally
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These two research designs differ in that, in research design. participants
t ake part n only one condition of the experiment whereas i the design.
participants take part in all the conditions of the experiment.

Options :

1.« Between-subjects design and With-subjects design

> % Within-subjects designand Between-subjects design



=

3 % Qualitative method research design and Quantitative research design

o Factorial design and Causal comparative design
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The rapid growth of dendrites to form neural connections or synapses 1s called

Options:

1.« Synaptogenesis

2. % Neuronal migration

3. # Neuro-synthesis

4. % Myelinisation
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Which model states that memory is stored throughoutthe brain in web-like connections
among interacting processing units operating simultaneously. rather than sequentially?

Options :

1. % Constructive process model

5 Parallel distributed processing model

3. % Level of processing model

4 % Three stage memory model

Question Number : 67 Question Id : 27028217319 Question Type : MCQ Option Shuffling : No
Is Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A
Minimum Instruction Time : 0 Allowed Progression : Yes Number of Replay : 999 Play On
Load : No Control Enable : Yes Time interval to replay(In Seconds) : 0 Allow Volume Control :

No

Correct Marks : 2 Wrong Marks : 0

Which eating disorder 1s characterised by recurrent episodes of consuming large
quantities of food. followed by self-induced vomiting or laxative use?

Options :

1.+ Bulimia nervosa

2. % Anorexia nervosa
Binge-eating disorder

4. % Purging disorder
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Who proposed that our emotions start with physiological arousal followed by a
conscious, cognitive appraisal?

Options :

1« SchacterandSinger’s

5> % Cannon-Bard theory

3. # James-Lange theory

4. % Paul Ekman
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The cognitive experiential self-theory (CEST) was proposed by . which
suggests that people process mformation through two distinet systems: a conscious
rational system and an unconscious experiential system.

Options :

1. % Joseph De Rivera



2. % Paul Ekman

3 Se}'r_m:.-ur Epstem

4. % Daniel Kahneman
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Match the following:

A. Unconditioned stimulus 1. A naturally occurring stimulus that leads to an mvoluntary
and unlearned response.

B. Unconditioned response 11, An mvoluntary and unlearned response to a naturally
occurring or unconditioned stimulus.

C. Extinction i1, The disappearance or weakening of a learned response
followng the removal or absence of the unconditioned
stimulus.

D. Stimulus diserimination  1v. The tendency to stop making a generalized response to a
stimulus that 1s similar to the original conditioned stimulus
because the stmilar stimulus 1s never paired with the
unconditioned stimulus.

Options :

1 v A@.B (). C (iii). D (iv)

5 % AGi). B (i). C (iv). D (iii)

5 % A(i). B(ii), C (ii). D (iv)



« A (ii). B (iii). C (iv). D (i)
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The manipulated variable in an experiment 1s often referred to as the
variable.

Options :

1 % Confounding variable

5 % Dependent variable

3. % Experimental control variable

4. ]nciependent variable
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Which theory commonly refers to the “aha!” phenomenon?

Options:



1 % Tolman’s latent learning theory

> % Seligman’s learned helplessness theory

3. « Kohler’s mnsight theory

4 % Bandura’s observational learning
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Bandura’s studies found that learning can take place without actual performance. What is
this referred to as?

Options :

| ® ARID

2. # cognitive learning

3. % Insight-based leaming

4+ Learning/performance distinction
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Dichotomous data are measured by risk ratio and odds ratio. whereas continuous data is
measured by standardized mean difference estimation. The following methods of measures of
effect are used m

Options :

1. % Statistical Review of literature

> % ANOVA

3. % Brief Psychiatric Rating Scale

4. « Meta-analysis
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Match the following:

(A) Encoding failure

(B) Decay or Disuse

(C) Retroactive Interference
(D) Proactive Interference

(1) Older information already in memory interferes with the learning of newer
mnformation

(11) Information that is not accessed decays from the storage system over time
(111) Newer information interferes with the retrieval of older information.

(1v) The mnformation 1s not attended to and fails to be encoded.



Options :

1« A (iv). B (ii). C (iii). D (i)

3. % A (). B (1), C (1), D (1)

4 % A (i11). B (11). C (iv). D (1)
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A 15 a persot or a group, typically a member or members of an out-group,
who serves as the target for the frustrations and negative emotions of members of the in-
group.

Options :

1. & Scapegoat

2. # Stereotype

3. % Equal status contact

4. % Neutral position person
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What 15 the assumption that says any object/person sharing characteristics with the members
of a particular category 1s also a member of that category?

Options :

1. « Representativeness heuristic

2. % Availability heuristic

3. % | Functional fixedness heuristic

4 % Similar concept heuristic
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Match the following Erikson’s Psychosocial stage of development to the developmental
crisis.
(A) Trust Versus Mistrust
(B) Autonomy Versus Shame and Doubt
(C) Industry Versus Inferiority
(D) Initiative Versus Gualt

(1) InfantBirth to 1 year old
(11) 1 to 3 years old

(111) 3 to 5 years old

(1v) 5 to 12 years old

Options :

1 % A(i). B (iif). C (iv). D (ii)

3 % A (ii). B (). C (iii). D (iv)

4 % A (). B (iii). C (i). D (iv)
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Characteristic of possessing the most positive personality characteristics of males and
females regardlessof actual sex 15 called

Options :

1.« Androgyny

> % Masc ulinity



3 % Femineity

4 % Gender schema theory
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While the psychological experience produced by the blocking of a desired goal or fulfilment
of a percerved need 1s called : the actions meant to harm or destroy another
person 1s called

Options :

1. % Aggression and Frustration

5 % Anger fantrums and Frustration

3 % Pressure and Aggressive behaviour

Frustration and aggression
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Prejudice 15 about . while discrimination 1s about

Options :

1.« Attitudes andbehaviour

5 % 'Perceptions and beliefs

3. % Behaviour and attitudes

4 % Belietfs and perceptions
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Experience secking, thrill and adventure seeking, disinhibition, and boredom susceptibility
are characteristic of personality trait.

Options:
1.« Sensation seeking personality trait
2. % Creative personality trait

3. % Social learning trait

4 % Generative personality trait
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Which model of persuasion states that people will either elaborate on the persuasive message
or fail to elaborate on 1t and that the future actionsof those who do elaborate are more
predictable than those who do not.

Options :

1. # Cognitive dissonance

2> « Elaboration likelihood model

3. # Implicit personality model

4. % Attribution model
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Which law states that when tasks are simple. a higher level of arousal leads to better
performance; when tasks are difficult. lower levels of arousal lead to better performance?

Options :

1.« Yerkes-Dodson law



5 % Incentive law

3 % Law of effect

4 % Need for achievement law
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Which of the following neurotransmitters released during exercise helps strengthen memory?
Options :

1. % Dopamine

> # GABA

3. # Serotonin

Norepinephrine
4. &
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According to Kohlberg's levels of morality. which level of morality 1s determined by the
experiences and judgment of the person, even if that judgment disagrees with society’s rules?

Options:

1. % Conventional morality

2 % Prec onventional morality

3.« Postconventional morality

4 % Preliminary morality
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. In which expermment did researchers set up a mock prison in the basement of a University
and selected 24 undergraduate students to play the roles of both prisoners and guards to
understand their behaviour n their assigned roles?

Options :
1. % Carlsberg Social Experiment

2 % IRobbers Cave Expei‘iment

3. % Milgram’s Obedience experiment



4. Zimbardo’s Stanford prison experiment

Question Number : 88 Question Id : 27028217340 Question Type : MCQ Option Shuffling : No
Is Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A
Minimum Instruction Time : 0 Allowed Progression : Yes Number of Replay : 999 Play On
Load : No Control Enable : Yes Time interval to replay(In Seconds) : 0 Allow Volume Control :

No
Correct Marks : 2 Wrong Marks : 0

Focusing on an nsignificant detail while ignoring the more important features of a situation
15 called

Options :

1. % Arbitrary inference

5 % Overgeneralization

3. + Selective abstraction

4. ¥ Personalization
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Abstract thinkers have been found to be more resistant to the

Options :

1.



% Foot-in-the-door technique.

2.« Door-in-the-face technique

3. # Lowballing technique.

4 % Abstract-then-conerete technique.
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In processes the percerver starts with small bits of information from the
environment that he/she combines in various ways to form a percept, and in
processes, the perceiver’s expectations. theories. or concepts guide the selection and
combination of the nformation in the pattern recognition process.

Options:

1. « Bottom-up Processes and Top-down Processes

2. % Direct Perceptual Processes and Top-down Processes

3 % Top-down Processes and Bottom-up Processes

4 % Top-down Processes and Direct Perceptual Processes
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Which of the following is not a dimension of the Big-five model of personality? Identify the
meorrect option.

Options:

1 % Upenness

a

2 % Conscientiousness

3. % Agreeableness

Empathy
4 » Empathy
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Which of the following 1s correct for the Pheromones?
Options :

1. % Biochemicals found within the brain which affect a person's behaviour

Biochemicals which play an important role in transmitting information from neuron to
2. % neuron



Chemical substances emitted by the person into the environment affecting the behaviour
3.« of others

4 % Chemical messengers found in the Central Nervous System
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Which of the following statements deseribe the term Diffusion of Responsibility?

Options :

Greater the number of witnesses to an emergency. the less likely the victims are to
1.« receive help

5> % People help others i order to reduce their emotional discomfort

3. % Helping others is a means of increasing one's own status and reputation

4 % Prosocial acts are motivated solely by the desire to help someone in need
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The larger swelling above the medulla that connects the top of the brain to the bottom and
that plays a part 1 sleep. dreaming. left-right body coordination. and arousal 15 called

Options :

1. % Amygdala

5> % Hypothalamus

3 % Cingulate Cortex

4. Pons
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The act in which people help others without any personal interest or motive 1s called

Options :

1.« Altruism
2. % Prosocial behaviour

3. # Nurturance



4 % Social obligation
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According to Bandura, which of the following is the correct sequence of processes involved
in observational learning?

Options :

1 % Attention — Desire — Imitation — Retention

2« Attention — Retention — Imitation — Desire

3 % Desire — Attention — Retention — Imitation

4 % Attention —Imitation — Retention — Desire

Question Number : 97 Question Id : 27028217349 Question Type : MCQ Option Shuffling : No
Is Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A
Minimum Instruction Time : 0 Allowed Progression : Yes Number of Replay : 999 Play On
Load : No Control Enable : Yes Time interval to replay(In Seconds) : 0 Allow Volume Control :

No

Correct Marks : 2 Wrong Marks : 0



Which of the following 1s the evidence that REM sleep specifically enhances consolidation?

(1) REM increases after learning

(11) REM deprivation interferes with learning
(111) Performance improves following REM sleep
(1v) REM 1s an altered state of consciousness

Options :

1. % (1) and (11) only

> % (1) and (111) only

3. # (11). (111) and(1v)

4.« (1). (11) and (111)
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Which of the following 1s associated with memory for emotionally charged events?
(1) Thalamus
(11) Hypothalamus
(111) Amygdala
(1v) Temporal lobe

Options:

1. % (1) and (i1) only

2. o (111) only



3 % {'iij and -(iﬂ.'] only

4 % (1v) only
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A network of neural circuits that extends from the lower brainstem up to the thalamus in the
forebrain. traversing some of the other central core structures, 1s called
the

Options :

1. % Pons

2 % M edulla

3. % Substantia nigra

4. + Reticular formation
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In the current times, the study of social psychology includes:

(1) Social cognition
(1) Ethnic Diversity
(111) Multiculturalism

Options :

1. % (1) and (11)

> % (1) and (111)

3 ¢ (1). (11) and (111)

4, %
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An attempt to first describe personality traits in terms of Lexican descriptors was first done

by
Options :

1.« Allport and Odbert

2. % Ross Stagner

3 % R.B. Cattell



4 % Coasta and McCrae
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When thirst is caused by the tendency of water to move from zones where it 15 plentiful to
zones where 1t 1s relatively rare, 1t 15 called thirst,

Options:

1. % Extracellular thirst

2 Intracellular thirst

3. % Dechydration thirst

4. % Hypovolemicthirst
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Read each of the following two statements - Assertion (A) and Reason (R); and mdicate your
answer using code given below:

Assertion (A): People perform i accordance to the social positions they hold

Reason (R):People select relevant information from tremendous amount of social
information.

Options :

1. % Both (A) and (R) are true. and (R) 1s the correct explanation of (A)
2 « Both (A} and (R} are true, but (R} is not the correct explanariml\ﬂfz (A)
3 % (A) 1s true. but (R) 1s false

4. % (A)1s false, but (R) 1s true
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Read the following statements — Assertion (A) and Reason (R) and choose the right answer:

Assertion (A): Mean level of fluid mtelligence (gf) 1s higher i younger adults than 1n
older adults.

Reason (R):Crystallized intelligence increases throughout life span.

Options :

1. # Both (A) and (R) are true. and (R)is the correct explanation of (A).

2 « Both (A) and (R)are true: but (R)is not the correct explanation of (A).



3. ¥ (A)1s true. but (R) 1s false.

4. % ' (A)1s false, but (R)is true.
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Which one of the following does not contribute to memory 7

Options :

1. % Some rest after learning

2. % Learning with a Goal

3 % Interesting / disinteresting learning material

4. « Gender
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Who was the first to use the psychological process of catharsis?

Options :

1.« Josef Breuer

2. % Emil Kraepelin

3. # Malleus Maleficarum

4. % Kurt Koftka
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What 1s the impaired ability to carry out motor activities despite intact motor function called?
Options :

1. % Anhedonia

2« Apraxia

3. ¥ Aphasia

4. % Agnosia
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Select the correct statements:
Emotions can be characterised as -

(1) Giving rise to atfective experiences

(1) Sttmulating generation of cognitive explanations

(111) Triggering a variety of internal neurobiological changes
(1v) Always eliciting rewarding behaviour

Options :

1. % (1). (11), (111) and (v}

> % (1). (111) and (1v)

3. % (11). (111) and (1v)

4 (1). (i1) and (iii)
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Match the following

(A) Dopamine
(B) GABA

(C) Acetylcholine
(D)Serotonin

(1) Important in mood and social behaviour. Drugs that alleviate depression and
anxiety mcrease serotonin levels 1n synapse.

(11) Mediates the effects of natural rewards (food and sex. for example) and drugs of
abuse.

(111) Involved 1n memory and attention. who's decreases associated 1s with
Alzheimer’s disease. Also aids in transmitting signals between nerve and muscle.

(1v) Major mluibitory neurotransmitter in brain. Drugs that alleviate anxiety enhance
activity of neurotransmitter.

Options :

1.« A(11). B(1v). C(au1). D(1)

5 % A(i). B(iii), C(iv). D(ii)

3. % A(i). B(iv). C(iii). D(i)

4 % A(). BG). C(iv). D(ii)
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The area of the brain which is involved in understanding the meaning of words is called



Options :

1. % Auditory Cortex

5 % Broca’s Area

3. % Motor Cortex

T =4k, (I .
4 Wernicke’s Area
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Organizational behaviour focuses on:
(1) Improving productivity
(1) Reducing absenteeism and turnover

(111) Increasing employees job satisfaction and commitment
(1v) Increasing decisions in the organization

Options :

1w (). (D). Gv)

5 % (id). (iid). (iv)

3.« (). (i), (iii)

PEMONCHNCS
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Read each of the following statements and indicate your answer:

Assertion (A) : Individuals who are extroverted. like excitement. are sociable and
mpulsive,

Reason (R) : The brains of extroverts seck excitement through stimuli from the
environment.

Options :

1. ¢ Both (A) and (R) are true and (R) 1s the correct explanation of (A)

5 % Both (A) and (R) are true, but (R) is not the correct explanation of (A)

. (A) 1s true. but (R) 1s false
e

(A) 1s false. but (R) 1s true.
4. %
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Psychological events such as perceiving and sensing cannot be broken down into any smaller
clements and still be properly understood. Which school of psychology posited this thought?

Options :

1 % Behaviourism

> « Gestalt Approach

3 % Psychoanalytical Approach

4 % Biopsychosocial Approach
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Parents are strict. warm. and demand mature behaviour but use reason rather than force in
discipline. This style of parenting 15 called

Options :

1. % Heterogenous parenting

> % Uninvolved parenting

3« Authoritative parenting

4. % Authoritarian parenting
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What do you call an acquired language impairment (inability to use or understand written or
spoken language) that results from brain damage?

Options :

1.+ Aphasia

5 % Anterograde Amnesia

3 % Amne s1a

4 % Forgetting
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Which theory of sleep proposes that animals and humans evolved sleep patternsto avoid
predators by sleeping when predators are most active?

Options:

1 % Restorative theory



2 « Adaptive theory -

3 % Tk{iC£DS]EElJ the-;u"y

4 % Brain plasticity theory
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Match the following:
A. Beta waves

B. Alpha waves

C. Theta waves

D. Delta waves

1. Long, slow brain waves that indicate the deepest stage of sleep.

i1. Brain waves indicating the early stages of sleep.

111.Brain waves that indicate a state of relaxation or light sleep.

1v. Smaller and faster brain waves, typically indicating mental activity,
Options :
1.« AQw). Bin). C(11). D(1)

5 % Aii). B(iv). C(i). D(i)

3. % A(i). B(iv). C(ii). Diiii)

4 % Aui), B(iv), C(u). D(1)
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Among the below given choices, what is the form of psychotherapy which 1s often used to
alleviate symptoms of post-traumatic stress disorder?

Options :

1. # Eclectic Therapy

5>  Eye Movement Desensitization and Reprocessing (EMDR)

3 % Trauma Therapy

4 % Psychosurgery

Question Number : 119 Question Id : 27028217371 Question Type : MCQ Option Shuffling : No
Is Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A
Minimum Instruction Time : 0 Allowed Progression : Yes Number of Replay : 999 Play On
Load : No Control Enable : Yes Time interval to replay(In Seconds) : 0 Allow Volume Control :
No

Correct Marks : 2 Wrong Marks : 0

Down syndrome 1s caused by a trisome in chromosome number-

Options :

1.\_{,11



3. % 22
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Temporary support provided by a parent or teacher to a child who 1s learning to perform a
task 15 called

Options :

1. % Imprinting

5 % Accommo dation

3.« Cognitive scaffolding

4. % Assimilation
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Which one of the following statement 1s true in the context of item analysis?
Options :

1« Item-total correlation is greater than or equal to item-remainder correlation.

2 % Item-total correlation = Item-remainder correlation.

3. % Item-total correlation 1s smaller than or equal to 1tem-remainder correlation.

4. % ltem-total correlation cannot be negative.
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The simultaneous existence of both positive and negative evaluations of an attitude object,
which could be both cognitive and emotional. is called

Options :
1.« Ambivalence
* ' Neutral attitude

2.

3. # Polarised attitude



4 % Realistic optimism
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What are the costs associated with illness such as disability. mjury termed as ?
Options:

1. & }wiorbi.ch' ty

2. % Prevalence

3. % Illness perception

4 % Lay referral system
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Taking a detached view, which 1s often a scientific view, of an event or stimulus 1n order to
reduce emotional activation is called response.

Options :



1 % Demnial response

2.« Distancing response

3 % Objective response

Straightforward response
4, %
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Which technique helps the individual to have a relook at the threat. and change the thinking
and beliefs related to the threat, especially i those suffering with anxiety disorders?

Options:

1« Cognitive reappraisal

5> % Cognitive reorientation

3. % Thought stopping

4 % Relaxation therapy
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What 1s the therapy technique deseribed by Beck where the therapist encourages the
exploration of an individual’s beliefs. encouraging them to question their validity?

Options :

1 % Cognitive reframing

> % Cognitive questioning

3. Socratic dialogue

4 % Introspection
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Which of the following are characteristic of the health belief model?

(1) Pre-contemplation

(11) Perceived susceptibility
(111) Perceived severity

(1v) Perceived benefits

Options :

1. % (). (11). (111) and (iv)



2.« (11). (111) and (1v)

3 % (11) and (1v) only

4. % (1). (111) and (1v)
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Who described the general adaptation syndrome (GAS)?
Options :

1. # Richard Lazarus

2. % Albert Ellis

3.« Hans Selye

4 % Martin Seligman
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Which of the following are characteristic of Type C personality?

(1) Cooperative and appeasing

(1) Compliant and passive

(111) Stoic

(1v) Unassertive and self-sacrificing

(v) Tendency to inhibit negative emotions. particularly anger.

Options :

1. & (). (1), (111), (1v) and (v)

> % (1). (11), (1v) and (V)

3 % (1). (111) and (v) only

(iv) and (v) only
4. %
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Positive reappraising of the stressor, seeking social support; venting anger and praying are all
characteristic of coping.

Options :

1. % Problem-focused coping

> % Avoidant coping



3. « Emotion-focused coping

4 % Social coping
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Who introduced the concept of self-efficacy?

Options :

1 % Albert Ellis

2 #  Aaron Beck

3. Albert Bandura

4 % Sigmund Freud
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Which of the following sequences of decision making perspectives of prosocial behaviour 1s
correct?



Options :

Takmg personal responsibility — deciding how to help weighing the cost and benefits —
1. % percetved need help 1s given

Weighing the cost and benefits — percerved need— deciding how to help 1s given taking
personal responsibility

Perceived need — weighing the cost and benefits — deciding how to helptaking
personal responsibility help 1s given

Percetved need— taking personal responsibility — weighing the cost and benefits
4. decidinghow to help — help is given
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Clintcians and researchers have found that a few individuals are more prone to the coronary
heart disease due to situational challenges they confront because of their personality make-
up. These individuals are termed as:

Options :
1. « Type A individuals

2. % T;,:pe B mdividuals

3. % Type C individuals



w4

4. % Type D individuals
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An abrupt surge of intense fear, anxious state or intense discomfort that reaches a peak within
minutes. What 1s 1t called?

Options:

1. % Generalized Anxiety

2. % Paresthesia

3. " |Pamc Attack

4. % Anxiety
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According to Rogers, when there 15 a good relation between all three components of
personality. that 1s. the real self. the perceived self and ideal self. the person has

Options :



1. # Genuineness

2 % Empathy

3« —ongruence

4 % Positive Regard
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Following 1s the sequence of human sexual response proposed by Master and Johnson.
Identify the correct sequence.

Options:

Excitement — Orgasm — Plateau — Resolution
1. %

2.« Excitement — Plateau — Orgasm — Resolution

3. # Excitement — Arousal — Orgasm — Resolution

4 % Arousal — Excitement — Orgasm — Resolution
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Who proposed the model of mtelligence which stated that intelligence was a series of
narrowly defined abilities which tend to cluster under a number of “minor group factors™.
which further cluster i two major group categories or factors called these vied (verbal:
educational) and k:m (spatial: mechanical).

Options :
1.+ Philip Vernon

5> % ._Tcrhn_C'an‘oll

3 % Spearman and Thurstone

4. % 1.P. Gilford
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In Watson and Rayner’s experiment with “Little Albert,” the conditioned stimulus (CS) was

Options :

1 % The loud noise

2 % The fear of the noise



3. « The white rat

The fear of the experiment
4, =
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Charan had written a grocery list but accidentally left it at home. Trying to remember the list,
Charan remembers what was at the beginning of the list and what was at the end but not those
things in the middle. This is an example of

Options :
1 % ]-Encp_di:?_g specificity

2 flashbulb 111&11101'},-' -

3. # the tip-of-the-tongue effect

Serial position effect
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Gestalt therapy was developed by
Options :

1. % Eric Erikson

2. % Sigmund Freud

3. % Carl Rogers

4 Fritz and Laura Perls
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Identify the correct order of the five steps involved in the scientific approach?
Options :

(a) Percerving the question—Forming a hypothesis—Testing a hypothesis—
1.+ Reporting the results

Forming a hypothesis—Testing the hypothesis—Percerving the question—Data
collection

Forming a hypothesis—Testing the hypothesis— Perceiving the question— Drawing
5 conclusions—Reporting the results

4. %



Perceiving the question— Testing the hypothesis— Forming a hypothesis— Drawing
conclusions—Reporting the results
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PRISMA stands for ?

Options :

1« Preferred Reporting Items for Systematic reviews and Meta-analyses

> % Preferred Review of Items for Systematic reports and Meta-analyses

3 % Preferred Reporting Items for Systematic reviews and Multiple study analysis

Preferred Reporting Items for Statistical reviews and Meta-analyses
4, ®
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According to Glass, the statistical analysis of a large collection of analyses from individual
studies for the purpose of integrating the findings is called

Options :



1 % Systematic Review

2 % Statistical study pool

3 % Statistical review of literature

4. « Meta-analysis
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Which theory of intelligence proposed following types of processes: simultaneous processing
dealing with holistic. integrated material, and sequential processing which deals with
temporally ordered or chain-like events?

Options :

1.« PASS theory

5 % MI theory -

3. % Triarchic theory

4. % Elementary cogmitive task or ECT
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The tendency to make more favourable and flattering attributions about members of one’s own

group than about members of other groups 1s

Options :

Grouping error
1. % =

Social attributory categorisation
2. %

Ultimate attribution error
3, %

Primary ingroup error
4. %
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Which of the following statements is true in the above passage?

Note: For this question, discrepancy is found in
guestion/answer. Full Marks is being awarded to

all candidates.

Options:

1. Learning attitudes 1s strongest by modelling
2. Attitudes are formed by modelling alone in children

3. Modelling is one of the processes in attitude formation

4. Modelling 1s another form of conditioning to reward children
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Individuals acquire new forms of behaviour

Note: For this question, discrepancy is found in
qguestion/answer. Full Marks is being awarded to

all candidates.

Options:

1. Merely through observing the actions of others

2 Merely by saying and approval by the parents
3 Through religious and similar views of families

4 Through processes such as modelling
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The passage emphasises which of the following?

Note: For this question, discrepancy is found in
question/answer. Full Marks is being awarded to

all candidates.



Options :

1. Learning by example

5 Need for observing actions of others

3. Approval of actions of children

4 Intensions to teach
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Which of the following 1s true?

Note: For this question, discrepancy is found in
question/answer. Full Marks is being awarded to

all candidates.

Options :

1. Learning by example
o ' Need for observing actions of others

3 Approval of actions of children



4 Intensions to teach
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According to the passage how do children acquire attitudes which the parents do not desire to

transmit?

Note: For this question, discrepancy is found in
question/answer. Full Marks is being awarded to

all candidates.
Options :

1. Hearing what they should not hear

o Observing the parents engaging in the actions that they tell the children not to perform

Observing the parents engaging in the actions that the children tell the parents not to
3. perform

Observing the parents engaging in the actions learnt by observing the others



